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Note:
1. All questions are compulsory.

2. Figures to the right indicate full marks.
3. Draw neat diagram wherever necessary.

Q.1. A) Discuss the break-even analysis. (5)
OR

B) What are the conditions of equilibrium? (5)

C) Examine the features of oligopoly. (5)
OR

D) Bring out the features of monopolistic competition. (5)

E) Describe the importance of capital budgeting. (5)
OR

F) Explain the Bain’s limit pricing model. (%)

Q.2. A) Examine the various concept of revenue. (8)

B) Bring out the relationship between Average Revenue (AR) and (7

Marginal Revenue (MR).
OR (8)
C) Discuss the various objectives of the firm. (7)

D)4f total fixed cost (TFC) is Rs.10,000 and average variable cost
(AVC) is Rs.6 and the price is Rs.10 per unit then calculate break-
even point in units.

Q.3. A) Explain the features of perfect competition. (8)
B) Bring out the features of monopoly. (7
OR
C) Discuss the Dumping. (8)
D) What is discriminating monopoly? (7)
Q.4.A) Discuss the marginal cost pricing. (8)
B) Examine the full cost pricing method. @)
OR
C) Describe the significance of capital budgeting. (8)
D) Calculate the Pay-Back Period (PBP) from the following table and (7
suggest which project is beneficial?
Project. Initial Annual Cash Pay-Back Period
Investment (Rs.) | (Rs.) Flow. (PBP)
A 5,00,000 1,00,000
B 50,000 25,000
C 1,80,000 30000
D 2,00,000 50000
E 4,00,000 50000
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